Chapter 6: “Alcohols and Ethers” Worksheet

1. Draw out the structural formula and classify the following alcohols as 1°, 2° or 3°
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2. Give the structures of the chief products expected:from the reaction of isopropyl
alcohol with: T, — W -~ S My
S+
CrO3, HzSO4
T\, = < —C \- S

g

Conc. Aqueous HBr

(G - - -
43 vt C.,\-%Ms

b
Product above + Mg

T, - cwm = S\

3

Na Lo vm
v \L}G\"

Ty~ - 4.
44‘5 ¥ v ~

\ N L
o NS

3. Using the Williamson Ether and starting with alcohols outline a possible synthesis for
isopropyl n-propyl ether. 4
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